

## Mixed Maths Questions for SBI PO Pre, IBPS PO Pre, IBPS Clerk Mains, SBI Clerk Mains and LIC AAO Pre Exams.

## Bank PO Maths Quiz 34

Direction: Study the following questions carefully and choose the right answer.

1. A motorboat takes x hours to travel 900 km in downstream and it takes y hours to travel the same distance in upstream. If the speed of the stream is 2 km per hour and the speed of the motorboat in still water is 8 km more than the speed of the stream, then find the sum of x and y?

A. 175.5 hours B. 175 hours C. 192.5 hours D. 187.5 hours E. None of these

2. A shopkeeper purchases a toy for Rs. 900. He marks the price of the toy in such a way that after allowing x% discount on the marked price he makes 10% profit but after allowing 2x% discount on the marked price he makes 40% loss. What is the marked price of the toy?

A. Rs. 1440 B. Rs. 1460 C. Rs. 1280 D. Rs. 1350 E. None of these

3. If a total of 'N' number of 5 rupee coins were distributed among three boys A, B, and C in the ratio of 4 : 5 : 7 respectively ,then the amount received by C was Rs. 40 more than that of B . What was the average of the amount received by A and B?

A. Rs. 36	B. Rs. 90	C. Rs. 45	D. Rs. 180	E. None of these

4. The initial investments of Anurag, Anu, and Sippy was 7 : 9 : 12 respectively. At the end of two years, they share the profit in the ratio of 14 : 21 : 32 respectively. If Sippy had invested for 2 years, then find the difference between the duration for which Anurag and Anu had invested?

A. 2 months B. 6 months C. 9 months D. 4 months E. None of these

5. The area of a rectangle is thrice the area of a circle. If the area of the circle is 616 sq. cm and the length of the rectangle is equal to the radius of the circle, then what is the perimeter of the rectangle?

A. 292 cm	B. 308 cm	C. 284 cm	D. 306 cm	E. None of these
-----------	-----------	-----------	-----------	------------------

6. What quantity of solution containing 20% sugar should be mixed with 10 litres of solution containing 10% of sugar so that the resulting solution contains 18% sugar?

A. 4 litres	B. 40 litres	C. 6 litres	D. 60 litres	E. None of these
-------------	--------------	-------------	--------------	------------------

7. A how the	a perso / much end of	n inves should three y	sts Rs. 1 I he wit vears is F	2000 at hdraw s Rs. 100 r	20% p that nore th	er annu the tota an the l	um sim al inter half of	ple inter est rece the princ	est. At ived or ipal?	the end the sur	រ of 3 mo n of mon	nths, ey at
A. Rs	5. 10000		B. Rs. 7500 C. Rs. 2500 D. Rs. 2000 E. None of these							ž		
8. T by 2 sell	he ratio 20% the the art	o of ma en by w icle at i	arked pri hat pero no loss n	ice to co cent sho lo profit	ost prico ould a si ;?	e of an a hopkee	article per de	is 5 : 4. I crease th	f the co e mark	ost price ed price	was incre if he war	ased Its to
A. 4(	)%	B. 4% C. 8% D. 20% E. None of these						2				
9. A jour dist	train s ney, it ance of	tarts tr increa 2000 k	raveling uses its km?	at the c speed k	onstant by 10 k	rate of m per	3 km   hour.	oer minu In which	te. At t of the	he end o e hour,	of every 1- it can cov	•hour ver a
A. 9 <sup>t</sup>	<sup>h</sup> hour		B. 10 <sup>th</sup> h	our	C. 8	<sup>th</sup> hour		D. 11 <sup>th</sup> h	our	E. None of these		ì
10. and Rs.	10. TESHILA (A toy making company) produces first 100 toy guns at the cost of Rs. 5 each and the additional toy guns at the cost of Rs. 8 each. If the company sells 1000 toy guns for Rs. 12500, what was the company's total profit?				each Is for							
A. Rs	5. 4700		B. Rs. 45	00	C. R	s. 5200		D. Rs. 50	00	E. No	one of these	<u>}</u>
Cori	rect Ans	swers:										
	1	2	3	4	5	6	7	8	9	10		
	D	A	B	E	A	В	D	В	В	E		
Ехр	lanati	ons:										
1.	The s	peed of	the strear	n is 2 km	per hour							
	The s	ped of tł	ne motork	oat in sti	ll water =	= 8 + 2 = 2	10 km p	er hour				
	x = Time taken in downstream = $\frac{900}{10+2} = \frac{900}{12} = 75$ hours											
	$y = tir = \frac{90}{10}$	me taker )0 – 2 = <mark>900</mark> 8	n in upstre <u>)</u> = 112.5	eam hours								
	x + y :	= 75 + 11	L2.5 = 187	.5 hours								

Hence, option D is correct.

2. SP when P = 10% = 110% of 900 = Rs. 990 SP when loss = 40% = (100 - 40)% of 900 = 60% of 900 = Rs. 540Let the MP = Rs. a then (100 - x)% of a = 990 ----- (i) (100 - 2x)% of a = 540 ----- (ii) Divide equation (i) by (ii)  $\frac{(100 - x) \% \text{ of a}}{(100 - 2x)\% \text{ of a}} = \frac{990}{540} = \frac{11}{6}$  $\frac{100 - x}{100 - 2x} = \frac{11}{6}$ 600 - 6x = 1100 - 22x500 = 16x $x = \frac{500}{16} = 31.25$ (100 – x)% of a = 990 ...... (i) (100 - 31.25)% of a = 990 68.75% of a = 68.75 × a = 990 × 100 a = 1440 = MP of the article Hence, option A is correct.

**3.** Let A received = 4x number of coins

Then, B = 5x and C = 7x

The difference between the amount received by B and that by  $C = (7x - 5x) \times 5 = (2x) \times 5 = 10x = 40$ 

x = 4

The sum of the amount received by A and B =  $(4x + 5x) \times 5 = 9x \times 5 = 9 \times 4 \times 5$ 

The reqd. average = 
$$\frac{9 \times 4 \times 5}{2}$$
 = Rs. 90

Hence, option B is correct.



The SI at the end of 3 years = $\frac{1}{2}$ of 12000 + 100 = Rs. 6100
SI of 3 months = $\frac{P \times R \times T}{100} = \frac{12000 \times 20 \times 3}{100 \times 12}$
= 20 × 3 × 10 = Rs. 600
The SI of remaining 2 years 9 months = Rs. (6100 – 600) = Rs. 5500 $P = \frac{100 \times SI}{R \times T}$
$=\frac{100 \times 5500}{20 \times 11/4}$ (2 years 9 months $=\frac{11}{4}$ years)
P = 10,000
The sum of money he should withdraw at the end of 3 months = Rs. (12000 – 10000) = Rs. 2000
Hence, option D is correct.
Let the MP = Rs. 5x then the CP = Rs. $4x$
When the CP is increased by 20% then then new cost price= 120% of $4x = 1.2 \times 4x = Rs$ . 4.8x
The reqd. % decrease in MP = $\frac{(5x - 4.8x) \times 100}{5x} = \frac{0.2 \times 100}{5} = 20 \times 0.2 = 4\%$
Hence, option B is correct.
3 km per min = 3 × 60 km per hour = 180 km per hour
The total distance travelled in the first hour = 180 km

**10.** The cost of first 100 toy guns = Rs.  $100 \times 5$  = Rs. 500

The cost of remaining 1000 – 100 = 900 toy guns = Rs. 900 × 8 = Rs. 7200

The total cost of 1000 toy guns = Rs. (500 + 7200) = Rs. 7700

The company's total profit = Rs. (12500 - 7700) = Rs. 4800

Hence, option E is correct.

## **SmartKeeda** The Question Bank

